ACTUATORS

METRIC DOUBLE CONVOLUTION

-
=
= S
—

- World’s Number 1 &

Air Spring. &=
TRIAL PRODUC

FIRESTONE INDUSTRIAL: TS COMPANY



AAIRSTROKE

AL 15

NOTE: All Assembly Order Numbers are for bead plate

parts unless noted otherwise.

Description Assembly Order No.
Style | Blind nuts, 1/4 BSP W01-M58-6160
25 Socket head aluminum bead
T rings (bolts, nuts, washers not
Ply included-use M6 cap screws)| W01-358-0030
Rubber bellows only
Bellows | (no girdie hoop) W01-358-0025
Assembly WeIGhT .......cooceirrmieeeie e 1.72 kg.
Force to collapse to minimum height (@ 0 BAR) 85 N.

M-8 x7.25 1/ BSP
BLIND NLITS AlR INLET
15:mm BEEP

* MB=25 MNm

TOROUE

163 mm MAX 0.0
AT 7 BAR
1) ap 1)

44 mm

HEIGHT

@l @
L'-—11-’1 mrm DiA.—-—l

NOTE: A bead plate part is shown. This part is also
available with bead rings. Bolts are not included.
See pages 8-10 for explanation.

Dynamic Characteristics at 140 mm Design Height
{Required for Airmount Isolator design only)
Gauge Spring Natural
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz
3 2.03 62 2.75
4 2.81 80 2,67
5 3.63 98 2.60
6 4.50 17 2.55
7 5.30 135 2.52

RECOMMEMNDED
S
140 mm. 6828
SRR | | EEEEENEE
— Do not use Airstroke in
— shaded area without s
22 — consulting Firestone )
- | —
20 : 110
= . A -
| e
wl L] / BBAR |
— I / ,/_
- 7BAR | |-
16 [ voLume ! / | 18AR | 8
Q [~ / /| -
o / P
=
S
E' E | \< / Pl | =
S,F K -
812 | AN = 6
o F | / ~158AR _
o I | -
310 | / // N
> '/ 7 >< 4BAR
AN ISAP NL=
Pt |
= )I/ ol / 3IBARN 3
.~ // / = <
i I r e
4 //{/ ) ol " 2BAR —{ 2
v/ _
= | ] |
E /Z’=“// TR |1
_ =
;’éf’”’ |
’ | 8820
0 2| | EEEE SN
180] 160 140 120 100 80 |
MAX. MIN.
HT. 177 Height mm. HT. 72
See page 12 for instructions on how to use chart.
Force Table (Use for Airstroke” actuator design)
Assembly | Volume | EFF Area kN Force
Height |@7BAR [@7BAR [ @3 4 5 P 7
(mm) (cuem) | (emsq) | BAR B@;\R B%R B@AR B@AR
150 1421 62 164 | 229 | 292 | 366 | 4.32
140 1344 74 2.03 | 2.81 | 363 | 450 | 5.30
130 1253 85 2339 | 327 | 413 | 5.09 | 5.96
120 1159 95 260 | 366 | 461 | 566 | 662
110 1049 103 297 | 400 | 504 | 6.16 | 7.18
100 939 109 321 | 427 | 538 | 657 | 7.65
80 817 116 341 | 452 | 569 | 695 | 810
80 698 122 355 | 476 | 598 | 7.31 | 852

Force kN

55

A

LD

www.LDA.be - LDA@LDA.be
E +32(0)2- 266 1313



1IS0LAroHs

‘ 255-1.5 Firestone  JIRSTROKE

RECOMMENDED

L~

4
]

///3 BAR\_

/ i 2

I

1BAR _

N

a4
TOROLE L

183 mm MAX 0.0
AT 7 BAR
U > U

\
\

NOTE: All Assembly Order Numbers are for bead plate DEglfgﬂ%lg&ﬁ Static Data
parts unless noted otherwise. 150 mm. 4652
Description Assembly Order No. ST PP rpryr NERREE 12
Style | Blind nuts, 1/4 BSP WO1-M58-6105 | intdke in / i
255-1.5 | Socket head aluminum bead [ consulting Firestone /g BAR
rings (bolts, nuts, washers = | =|
Two | notincluded, use cap screws) | SEE NOTE BELOW | / |
Bellows /
s s
VOLUME| \ /
Assembly wWelght ..o 1.7 kg. : / /
Force to collapse to minimum height (@ 0 BAR) 190 N. | /
() | /
o
g | |
% I || | //_ E
_ : £ | / 5BAR | &
B"Lﬁq’éhffr_s NRNET (&) ! d ' 2
18 rriri DEER =12 L | | >< | 6 UC_!
o
E | : / / &/ =
S | L X4 8AR
° e
o | / \
) Sl

\

HEIGHT - /
L4

Fd T
|

/|/ 4652
i Ll Lol y

\
\

VAN

vd
e
A

|
0 -
e 114 e DA ! 200 190 W0 W0 10 110 %0 |70
MAX. , MIN.
HT. 205 Height mm. HT. 77
NOTE: A bead plate part is shown. This part is also See page 12 for instructions on how to use chart.

available with bead rings. Bolts are not included.
See pages B-10 for explanation.

Dynamic Characteristics at 150 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area KN Force
Height |@7BAR [@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm) | {cucm) [ {cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 180 1896 74 1.91 | 271 | 349 |4.40 | 519
3 2.71 59 233 160 1708 92 251 | 346 | 441 | 547 | 643
4 375 73 9 91 140 | 1491 106 | 301 |409 [518 [637 | 743
5 4.83 90 216 120 | 1255 119 | 344 |464 |585 |7.15 | 8.33
5 598 106 211 100 992 132 [ 384 |516 | 649 |7.92 | 923
7 7.00 121 208 80 703 144 422 | 565 |7.08 |862 |10.06

L D www.LDA be - LDA@LDA.be 56
‘ E +32(0)2- 266 1313



msmgth IBMI'HINT ‘F iresftone

AT RS

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. DES]%; EE,LGHT 8829
Description Assembly Order No. 40 R T |' T ERERRERERRUREE .
Style | Blind nuts, 1/4 BSP W01-M58-6400 | Do not use Airstroke in |
224 __ shaded area without
consulting Firestone
T 36 i 18
Wo - I
Ply |
Bellows s | 8 BAR |-
< T gt
| it e ssusmmmn s s SRR 27 ka.
Assembly weight 2.27 kg VOLUME ! /
Force to collapse to minimum height (@ 0 BAR) 62 N. = i P 7BAR |
28 |— l | / I o 1
_ I N /
= | N | /]
S | P /’ 6 BAR
= b. @l || b
24 | 12 =
-8 1:25 1WBSP o3 | 1L =
RO - | N ipad 5
5 Bl AV 0 s
: | /1 /] 5 BAR =
3 20 ; - =110
(&] _ | / / / L
e S
S ORI | 1AL N\eor 1],
~ = i V/ Y i
MPD—}I{?E)GUNEI“ T0tnm — : / / / // I P | ! 1]
quargﬁmﬁﬁo.u.—-— 12 B / i / N 6
el Fd / // __‘<
Tt Vav4 =
) U / //,/ - " 3BAR
HEIGHT g == / /’J|// i L4 | et |1 :
g / ¥ 7T 2R
L | |~ A
IR p— y/y/if _,_1-.....-_,_,_....-----"' 1 BA}R =z
B829
0 Vil I N i -
NOTE: A bead plate part is shown. This part is also avail- 230] 210 190 170 150 130 110 90 170
able with bead rings. See pages 8-10 for explanation. MAX. . MIN.
HT. 229 HE'Ight mm. HT. 72

See page 12 for instructions on how to use chart.

Dynamic Characteristics at 165 mm Design Height Force Table (Use for Airstroke™ actuator design)
{Required for Airmount isolator design only) Assembly | Volume | EFF Area KN Force
Height |@7BAR |@7BAR [ @3 [ @4 | @5 | @ | @7
Gauge Spring Natural (mm) | {cuem) | (emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 180 3002 105 | 290 | 400 | 508 | 628 | 7.37
3 3.48 69 291 160 2730 129 364 | 495 | 628 | 7.73 | 9.03
4 4.74 a8 215 140 | 2411 151 | 429 | 580 | 7.35 | 9.05 | 1058
5 6.01 109 213 120 | 2063 172 | 487 | 661 | 835 | 10.27 | 12.02
6 7.40 132 2 11 100 1690 189 | 537 | 7.34 | 924 [11.32 | 1323
7 8.65 152 2.09 80 1300 201 576 | 7.85 | 9.88 | 12.05 | 14.04

57 L D www.LDA.be - LDA@LDA.be
‘ B +32(0)2-266 13 13



Firestone  ABSIROKE

IRMOUNT

26

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
parts unless noted otherwise. BEREI EErs 8442
T 80 | 20
Description Assembly Order No. U | [ TTT Ty
Style | Blind nuts, 1/4 BSP W01-M58-6353 Do not use Airstroke in
; | | |shaded area without L
Two | Countersunk steel bead rings =T | ' [ ] m 18
Ply 40 mm bolts, nuts, washers | W01-M58-6988 |
Bellows | Rubber bellows only W01-358-0142 | i
Assembly weight...........i 2.40 kg. 64 |
Force to collapse to minimum height (@ 0 BAR) 102 N. |
— |
56 I
- |
=) =
E 1 BAR |
;«48 VOLUME | =
oS KRN : | -
15 mim DEEP ' = 8
g 5
a 40 10 i
[¢h]
s
o* 8
=
N v 25\ 70 mm
TORGUE
218 mm MAX 0.0, 24 6
AT 7 BAR
g *F T
16 4
HEIGHT
8|/ T T T,
] il i I D——
le—— 135 mm bia: / ain
ol ez El L W S NN 0
NOTE: A bead plate part is shown. This part is also avail- 270 250 230 210 190 170 150 130 110 90 \
able with bead rings. See pages 8-10 for explanation. MAX: \
HT. 266 Height mm. bl
See page 12 for instructions on how to use chart.
Dynamic Characteristics at 205 mm Design Height Force Table (Use for Airstroke™ actuator design)
{Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height @7BAR | @7 BAR @3 @4 @5 @6 @7
Gauge Spring Natural (mm) (cucm) | {(emsa) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 220 4202 118 319 | 444 | 566 | 7.06 | 829
200 3918 139 3.80 | 535 | 676 | 832 | 9.73
3 374 59 1.99
180 3594 157 451 | 612 | 7.70 | 843 | 11.00
4 5.15 76 1.82 160 | 3233 174 | 508 | 682 | 857 |1046 | 1220
5 6.52 93 1.88 140 2840 191 560 | 748 | 940 1146 |13.35
[ 8.03 109 1.83 120 2434 206 6.05 | 8.09 |10.16 | 1236 | 14.38
7 9.41 124 1.81 100 2007 218 642 | 863 | 10.81 [ 1311 | 1525
80 1564 228 676 | 9.08 | 11.34 |13.72 | 1594
www.LDA.be - LDA@LDA.be =

LD

E +32(0)2- 266 1313



[IIRSTROKE

AGTI =

NOTE: All Assembly Order Numbers are for bead plate REE?;T&%ENNEEE Static Data
parts unless noted otherwise. b ia 1820
Description Assembly Order No. ) IS LN A N ! N 9
Style | Blind nuts, 1/4 BSP WO01-M58-6187 I
20 | Blind nuts, 1/4 BSP, bumper | W01-M58-6188 7 BAR
T Blind nuts, 3/4 BSP W01-M58-6185 | VOLUME
p'“'l"; Blind nuts, 3/4 BSP, bumper | W01-M58-6186 L
Bellows | Ceuntersunk steel bead rings,
40 mm bolts, nuts, washers W01-M58-6990 | \ 8 BAR
Rubber bellows only W01-358-7901 | N
A i 60 ' 24
SEeMUlY Welghb. . 3.40 kg. [ |
Force to collapse to minimum height (@ 0 BAR) 62 N. Riorsr:?tl:i?es?n 7 BAR
shaded area /
Style | Blind nuts, 1/4 BSP W01-M58-6192 o Wlnmsﬂli':_
% Blind nuts, 3/4 BSP W01-M58-6190 ||y
i S
Streggth x | | E
Con- : ©
struction £ 3
S0 16 ©
3 2
Q
M-B 7,25 T4.0R 34 858 E
BLINDNUTS AR INLET =
15 mim DEEP =)
>
44 mm”
(39,1 FOR 2/4) 20 g
N 625 8m e
TORQUE
252 mim MAX 0.0,
ATT BAR
g0 T T
HEIGHT
| OPTIONAL | 0 T = 0
1 BUMPER | 195 155 15| 75
» L T - MAX. HT. Eumtpei MIN, HT.
5 i ontac 76
SR T S— B Helght o, 107 mm 2R
NOTE: A bead plate part is shown. This part is also avail- See page 12 for instructions on how to use chart.
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 215 mm Design Height Force Table (Use for Airstroke™ actuator design)
{Required for Airmount isolator design only)} Assembly | Volume |EFF Area kM Force
Height (@ 7BAR |@7BAR @3 |@4 @5 | @6 @7
Gauge Spring Natural {mm) | (cuem) [ (emsd) | BAR |BAR | BAR |BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 230 6423 149 397 | 570 | 7.21 | 891 | 1045
200 5853 196 549 | 759 | 958 |11.75 | 13.72
3 478 77.93 2.01
170 5129 237 675 | 920 | 1161 | 1422 | 16.60
4 6.73 98.23 1.96
140 4286 273 781 1072 | 1345 | 1642 | 1917
5 8.49 12217 1.89
110 3372 299 859 |11.72 | 14.74 | 17.99 | 20.98
6 10.42 146.53 1.87
80 2417 324 951 1274 | 16.03 | 19.50 | 22.68
7 12.19 168.24 1.85

59 L D www.LDA.be - LDA@LDA.be
‘ B +32(0)2-266 13 13



20-2 Tirestone  JRSTROKE

TIRS

L N AN N N N

NOTE: All Assembly Order Numbers are for bead plate RE?&%E?EED Static Data
parts unless noted otherwise. R e s 9902
Description Assembly Order No. 14 R E o ARREDT 28
Style | Blind nuts, 1/4 BSP WO01-M58-6183 e Airstroke in / o
20-2 | Blind nuts, 3/4 BSP W01-M58-6194 L shaded area without 8 BARL
Two | Countersunk steel bead rings, SR Firnstona
ply | 40 mm bolts, nuts, washers SEE NOTE BELOW /’ _
Bellows | Rubber bellows only W01-M58-6146 12— / 1 1%
T 7 BAR| ]
7T/
AssembIY WEIGNL........civicririn et cercrsasereessn e 3.50 kg. = L~ e
—— A LA B
Force to collapse to minimum height (@ 0 BAR) 75N, 10 // 6 BAR 20
g e /
= | 78R N / / . 7 >
| X g | VOLUME ’ ’ “5BAR 16 &
Mk 125 1A OR AL BSP & )( ®
BLIND NUTS AIRINLET = = e
15 mm DEER Q o
3 | / < . =
45 mne @ / /
i Ee / b Wi
| 5L -
*{38.1 FOR 304) = / L~
* ME=25 Nm — 8% mm 3 / /
TOROUE
" |/
,_,.--"""'""-
(]

| A/
250 mim MAK Q.0 ——=~ / g
AT 7 EBAR
20 —" US / ey |
7 / i
HEIGHT ‘ _// L~ — 4
i , / P | 1 BAR
! OPTIONAL | 2
i BUMPER | i fe=
| BUMPER | | 7 ] i
~ Wl i & / leeozl
; 0 | L] R AT O ] 0
a0 mm i 3401 300 260 220 180 140 |10 |
MAX, i Bumper  MIN.
HT. 330 Helght AL Contact HT. 77
NOTE: A bead plate part is shown. This part is also available (110 mm)
with bead rings. See pages 8-10 for explanation. See page 12 for instructions on how to use chart.
Dynamic Characteristics at 254 mm Design Height Force Table (Use for Airstroke™ actuator design)
{Required for Airmount isolator design only) Assembly | Volume |EFF Area kN Force
Height |@ 7 BAR |@ 7 BAR @3 | @4 @5 | @6 @r
Gauge Spring Natural (mm} | (cucm) | {cm sq) BAR | BAR | BAR | BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 280 8531 175 452 | 643 | 827 | 1041 |12.28
260 8130 201 543 | 7.58 | 965 [11.97 | 14.05
3 571 71 1.76
240 7682 223 6.24 | 860 |10.86 |13.36 | 15.63
. 8.12 91 1.67 220 7189 244 696 |9.51 |11.95 | 14.61 | 17.07
5 10.15 108 1.63 200 | 6637 263 768 [10.31 [12.94 | 1579 | 1843
6 12.45 126 1.59 180 6048 282 8.16 |11.03 |13.85 | 16.91 | 19.73
7 14.58 144 1.57 160 5424 299 870 |11.70 | 14.71 | 17.86 | 20.96

140 4770 315 823 |12.33 [ 15.49 | 18.89 | 22.02

L D www.LDA.be - LDA@LDA.be 60
‘ B +32(0)2-266 13 13




IRSTB?KE IRMﬂfINI; ‘F resfone 22

NOTE: All Assembly Order Numbers are for bead plate REE%WSE%?EQ Static Data
parts unless noted otherwise. BESICHIISHT: 1227
Description Assembly Order No. = IO | ! ! VIl AL 2
Style | Blind nuts, 1/4 BSP W01-M58-6381 & ee Alrstroke In 8BAR —
y = : shaded area without
22 Blind nuts, 1/4 BSP, bumper | W01-M58-6382 B cunsu][ing Firestone / l
Two | Blind nuts, 3/4 BSP WO01-M58-6200 b ] 7 45
Ply | Blind nuts, 3/4 BSP, bumper | W01-M58-6201 | / _
Bellows | Countersunk steel bead rings, | | 4 i BAR/_
40 mm bolts, nuts, washers | W01-M58-7524 16 | / 40
Rubber bellows only W01-358-0226 - 78AR ! o
Assembly weight (bead plate version, no bumper) 5.8 kg. VOLUME i / V4 6 BAR
/
Force to collapse to minimum height (@ 0 BAR) 88.9 N. 14 ~{ ] // / // 35
Style | Blind nuts, 1/4 BSP WO1-M58-6212 s | \\ | / A 7
210 Blind nuts, 1/4 BSP, bumper | W01-M58-6213 8 — | 5BAR |
High | Blind nuts, 3/4 BSP W01-M58-6210 =12 l ! - 130 >
Strength | Countersunk steel bead rings, s I | / = =
Can- bolts, nuts, washers W01-M58-6976 : i v > ®
struction | Rubber bellows only W01-358-7928 £ | / / / o
210 - ABAR 125 ©
R/ =
M-B_x 125 /4 OR 34 RSF |
e BRES O E i8 /| X "
SRS | / / 3IBAR |
S 6 V4 // o 115
/ A — 2 BAR
i //I/ / P f"f&_ 10
. | /I /1 i
“Mﬁf{d&m / / A /I/ /_,/
'VB nuu MAX Qp— / | LA 1 BAR
2 ' /|/ _______,_...-—---"'""""_———— 5
= ol I g
V il 1247
_______ EIGHT 0l L | : e —
T OPTIONAL | | 310 270 230 190 150 110 70
.' BUMPELR MAX, ) Bumper MIN.
HT. 305 Height mm. C{%ntact HT. 76
107 mm
c?q trirn BA, —--l .
See page 12 for instructions on how to use chart.
NOTE: A bead plate part is shown. This part is also avail-
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume |EFF Area kN Force
Height \@7BAR |@7BAR | @3 |@4 | @5 @b @7
Gauge Spring Natural (mm) | {cuem) | (emsg) | BAR |BAR | BAR |BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 240 12776 340 968 |13.12 | 16.56 | 2035 | 23.81
220 12002 389 1122 11511 | 19.05 | 23.31 | 27.21
. i L L 200 11107 431 1249 | 16.79 | 21.19 | 25.89 | 30.16
4 13.12 175 1.82 180 | 10127 | 469 | 1360 | 18.28 | 23.10 | 2821 | 3281
5 16.56 215 1.80 160 8072 504 14.61 | 1964 | 24.85 [ 3032 | 3524
6 20.35 255 1.77 140 7952 535 16.56 | 20.90 | 2642 | 3223 | 3744
7 23 81 204 175 120 6615 562 1642 | 2203 | 27.80 | 33.85 | 39.32
100 5637 583 17.15 | 2294 | 28.90 | 35.12 | 40.78

L D www.LDA.be - LDA@LDA.be
‘ B +32(0)2- 266 13 13 61




22-1.5 TFwrestone  [BSTRIKE [JIRYIUNT

ACTUIATORS

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate _ AIRMOUNT Static Data
parts unless noted otherwise. Ll 1889
Description Assembly Order No. ST | | 7] | NREEY
Style | Blind nuts, 1/4 BSP W01-M58-6384 Do not use Airstroke in
shaded area without
22-1.5 | Blind nuts, 3/4 BSP W01-M58-6383 15 |___consulting Firestone 54
TP‘-"I’G Rubber bellows only W01-358-0259 = : =
y : | |
Bellows |
| Sz
Assembly weight (bead plate version, no bumper) 5.85 kg. 18 _ 7BAR \|\ | i BAR | i
Force to collapse to minimum height (@ 0 BAR) 116 N. VOLUME \ /
14 | \\ / 7 BAR —1 42
| N /
=) = R,
=) Vv
S ' BLA | L=
i Mo o T VT K T e ]® 2
15 mm DEEP i > B | / = =~
: L]
E L ! / / < . O
=210 ' N\ _— 13y ©
73 3 | / / / 5 BAR LL.
S Mmim
® = / e |
g L / p 7] il
= 8 v = 24
5 B 1 / 4 "\ 4BAR _
= A |7
NCuzin | | 4 Pa 0
L~ al
/ LT e
"
U O A
4T | 2BAR —
/
HEIGHT —
 opTioNAL | 2 E——— 6
:. BUMPER | | 1BAR
ik 0 i 1889 |
|e——— 229 m o1 ——— 0 [ | 1 Y O ) O O M |
330] 290 250 210 170 130 | 0!
NOTE: The bellows extends beyond the bead plates at MAX. : Bumper MIN.
lflivay holgHt. HT. 330 Height mm. Contact HT. 77
107 mm
NOTE: A bead plate part is shown. This part is also See page 12 for instructions on how to use chart.
available with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 265 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kM Force
Height | @ 7 BAR | @ 7 BAR @3 @4 @5 @6 @7
Gauge Spring Natural {mm) | {cuem) | (emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 270 | 15435 327 | 867 |12211555 1941 | 2287
3 912 129 1.87 230 13823 424 11.73 | 16.31 | 20.58 | 25.32 | 28.64
4 12.82 170 182 190 11833 502 1416 | 19.45 | 24.50 | 30.04 | 35.13
5 16.30 208 1.78 150 9521 571 16.31 | 22.17 | 27.81 | 34.20 | 38.97
6 20.28 246 1.74 110 7032 618 17.73 | 24.18 | 30.37 | 37.11 | 43.34
7 23.86 282 1.71 80 4521 635 18.21 | 24.84 | 31.20 | 38.10 | 44.48

L D www.LDA.be - LDA@LDA.be 62
‘ B +32(0)2-266 13 13



AIRSTROKE  [IIRMOUNT  Frirestone

NOTE: All Assembly Order Numbers are for bead plate REﬁ%mEﬁ?ED Static Data
parts unless noted otherwise. LEa et 6215
Description Assembly Order No. 32 SR | 111 [ ] [ [l dl 80
Style | Blind nuts, 1/4 BSP WO01-M58-6114 Do not use Airstroke in i i
; - shaded area without =
21 Blind nuts, 1/4 BSP, bumper | W01-M58-6115 L consulting Firestone
Two Bl!nd nuts, 3/4 BSP WO01-M58-6112 % i 8 BAR/,_ 7
Ply Blind nuts, 3/4 BSP, bumper | W01-M58-6113 B ' / ]
Bellows | Countersunk steel bead rings, |
40 mm bolts, nuts, washers | W01-M58-7525 | //
Rubber bellows only W01-358-0213 | 4 7 BAR
| 2
L — 7.85 kq. 24 |— | / / 60
Force to collapse to minimum height (@ 0 BAR) 98 N. | 7 BAR |
VOLUME | / e
Style | Blind nuts, 1/4 BSP W01-M58-6079 = \ | / — |
205 | Biind nuts, 3/4 BSP W01-M58-6077 S20 | \'\ / / 50
Four | Countersunk steel bead rings, = LN /| | I
Ply 40 mm bolts, nuts & washers| W01-M58-7536 = Jl ' / 5 BAR 5
Bellows | Rubber bellows only W01-358-7929 s / ' ! 8
QEE | N/ 14 6
3 F ly /N T
MG X125 —— = /| / /] N~ |
i e B A el
2 =) B / /
(@] 12 | / yd ,/ 30
= |
§ rmim = / / \ 3 BAR l
E | |/ 7 —
A/ // —
8- / /T Y // \ 20
- HR S
f— ..-F"'"-F
*\Mﬁ{ég‘ﬁm 159 mim j////|// /// 2 BAR :
L ‘LT -
g U U % - i =] 1BAR |
o AN :
| OPTIONAL ! | /A AT | .
| BUMPER _/ | 6215 | _
"""" : HEIGHT o L2 | Ll L4l L1 | LIy
310 270 230 190 150 1 110 |
MAX, . Bumper WAIN.
il T - HT, 304 Height mm.  contact  HT.77
l—-— 287 mm DIA.—-—I jat
See page 12 for instructions on how to use chart.
NOTE: A bead plate part is shown. This part is also avail-
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke" actuator design)
(Required for Airmount Isolator design only) Assembly | Volume | EFF Area kN Force
Height |@7BAR |@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm} | (cuem) | (emsq) | BAR [BAR | BAR [BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 240 18574 534 14.67 | 20.23 | 25.85 | 31.99 | 37.38
220 17382 598 16.77 | 23.02 | 29.19 | 35.86 | 41.84
3 14.87 200 1.84 200 16033 651 18.51 | 25.33 | 31.96 | 39.08 | 4556
4 20.23 262 1.79 180 14575 698 20.01 [ 27.29 | 34.36 | 4193 | 48.87
160 13022 74 21.33 [29.01 | 36,53 | 44.56 | 51.90
5 25.85 318 1.75
140 11385 780 2248 | 30.56 | 38.50 | 46.92 | 54.61
6 31.89 375 1.7 120 | 9732 813 | 2347 [31.96 | 40.21 | 4891 | 56.88
7 37.38 430 1.69 100 8023 839 24.34 (3324 | 41.65 | 5051 | 68.72

63 L D www.LDA.be - LDA@LDA.be
‘ B +32(0)2-266 13 13



21-2 TFwrestone

IRSTI?I(E

IBMMINT

v LD

B +32(0)2-266 13 13

RECOMMENDED 5
NOTE: All Assembly Order Numbers are for bead plate AIRMOUNT Static Data
> DESIGN HEIGHT
parts unless noted otherwise. 285 fim. 3931
Descripti A bly Order No Ll | Ilil|||| ll‘l‘l .
ESenRion SCUR L. | Do not use Airstroke in 8 BAR i
Style | Blind nuts, 1/4 BSP W01-M58-6377 — shaded area without —
21-2 | Blind nuts, 1/4 BSP, rubber L consilting Firestone i
Two | bumper W01-M58-6379 28 ™ / 10
Ply Blind nuts, 3/4 BSP W01-M58-6378 = .
Bellows | Rupber bellows only W01-358-0140 2 ?EFE__
Assembly weight (bead plate version, no bumper) 8.26kg. TRAR / /
Force to collapse to minimum height (@ 0 BAR) 156 N. 24 —yoLUME! N A r 60
\ / 6BAR |
s 2 | / 4
M-Bx% 125 =il / i
L kv 800 / AV *
Y
- = 5BAR
2 I / Rl oz
mm E /] / 8
G16 / /] \ 0 5
= D ) e 4garR || 2
) 3 b4 / = s
5 f /
e g12 ¢ ! " 3BAR 30
MERENT b s 5 N\
406 miin MAX 0,0 ——————= i ' / ' ] il
AT 7 BAR q /
g: = U 8 9 <l 2 BAR —¥| 20
| ! / / I/ prd
i DPTIONAL | LA
| BUMPER | / / A ’/_--—"‘""
(]'_‘1 HEIGHT / / / ’//
4 / / | BAR 10
1L | " -
- i // / o
] — é/r 393i1 il
1 | | | [ | A
0 T 0
NOTE: The bellows extends beyond the bead plates at 36[}] 320 280 240 200 160 ‘120 BD']'
minimum height. ”r}ﬁﬁﬁ.s Bumper I:\z;lN.
3s i Contact vl
Height mm. s
NOTE: A bead plate part is shown. This part is also : ;
available with bead rings. See pages 8-10 for explanation. S0 paye 2 fonnsRpCtgns SR [OTisg Ciar:
Dynamic Characteristics at 265 mm Design Height Force Table (Use for Airstroke” actuator design)
(Required for Alrmount isolator design only) Assembly | Volume |EFF Area KN Force
Heigt |@7BAR [@7BAR | @3 | @4 | @5 | @b @7
Gauge Spring Natural (mm) | (euem) [ (emsa) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 280 | 24758 | 541 |14.81 |20.52 |26.07 |32.28 [37.85
3 16.48 183 1.66 240 22165 661 18.76 |25.69 [32.37 [39.60 |46.23
4 27 69 238 162 200 19084 758 21,74 |29.70 |37.34 |4553 |53.06
5 28.70 289 158 160 15583 844 2415 |33.09 |41.57 [60.69 |59.10
6 35.33 340 155 120 | 11862 | 906 |25.90 |35.57 |44.61 |54.37 |63.44
7 41.34 300 153 80 8016 930 26.79 |36.66 |45.89 |55.82 | 65.11
www.LDA.be - LDA@LDA.be 64




AIRS TROKE

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead plate oe@@rﬂ%ﬂm Static Data
parts unless noted otherwise, 285 mm, AQBGY
Description Assembly Order No. 2T i| IUBBRBEAR ] 80
Style | Blind nuts, 1/4 BSP WO01-M58-6107 i Do not use Airstroke in il
2332 | Blind nuts, 3/4 BSP W01-M58-6109 N Shtaded area without
Il \consulllng Firestone 8BAR |
Two k1 | AT 1T
Ply 28 I 7 70
Bellows \ /
ASSEMDBIY WEIGHE. ... sse e arss e se e areens 8.89 kg. AN / TBAR |
i ; 78R || AT '
Force to collapse to minimum height (@ 0 BAR) 156 N. 2% | \ / | | 60
VOLUME |
| 6 BAR
S L/ /| A
1:8% 1,25 o 20 : \ Z 50
BLIND NUTS 14BSP - | / \
16 rmm DEER 7 AR !\"‘U < | / : // 5 BAR
mim g 16 /] 7 40
o L A/ A \
g | /a v ||
) =) i | / /
< 12 | / s
N i | 4 /
TORQUE / /A1 1L / RY
N i | [
g | | A
i / | //
| OPTIONAL | / | LAl - ]
| BUMPER | 7 L
"""" HEIGHT 4 ,/ | /'/ LG
4 |
L / L :
/l A || "]
\@ ) al L/ //r A9899 |
S R P ] / Ll Ll Ll L 0
400° 360 320 280 240 2000 160 1F0 8?
NOTE: The bellows extends beyond the bead plates at MAK, . Bumper .
minimum height. LR Height mm. Ca'ggft HT, 77
NOTE: A bead plate part is shown. This part is also avail- See page 12 for instructions on how to use chart.
able with bead rings. See pages 8-10 for explanation.
Dynamic Characteristics at 285 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height | @ 7 BAR | @ 7 BAR @3 @4 @s @6 @7
Gauge Spring Natural (mm) (cucm) | (emsa) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 320 | 26309 560 | 14.44 | 2052 | 2635 | 33.20 | 39.23
3 17.48 164 153 280 23714 653 17.82 | 2456 | 31.24 | 3887 | 4573
4 24.14 208 146 240 20846 729 2039 | 27.85| 35,13 | 4341 | 5104
200 17673 799 2269 | 30.81 | 38.73 | 4765 | 5594
5 30.73 251 1.43
160 14250 859 2468 | 33.30 | 41.87 | 51.34 | 60.11
6 38.28 299 1.39
120 10748 892 2594 | 34.86 | 43.76 | 5344 | 6241
7 45.04 345 1.38
80 6382 889 26.62 | 3540 | 44.31 | 53.60 | 62.25

Force kN

65

LD

www.LDA.be - LDA@LDA.be
E +32(0)2- 266 1313




28

Fwrestone

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead ring AIRMOUNT Static Data
parts unless noted otherwise. il 5526
— BT 1 ] T 1 12
Description Assembly Order No. = ! ‘| | T ] =
— Do not use Airstroke in
Style | Ribbed neck aluminum bead — shaded area without =
28 | rings (equal spacing), 45 mm [~ consulting Firestone T
bolts, nuts, washers W01-M58-7531 I ! .
Two 8 BAR
Ply | Rolled plate assembly, 40 1 | [T 10
Bellows| 1/2 blind nuts, 3/4 NPT SEE NOTE BELOW -,
Rubber bellows only W01-358-7925 =
A 7BAR _ |
Assembly weight.........ociiiii i, 8.62 kg. / /l/—
Force to collapse to minimum height (@ 0 BAR) 169 N. P / | ==
32 YT
f . = 6 BAR _|
Style | Ribbed neck aluminum bead 8 / Ve
201_| rings (equal spacing), 50 mm = P / =
Sttgghth bolts, nuts, washers Contact Firestone — e — ¢
Cor'| Rubber bellows only W01-358-0201 o A1 sem] =z
struction £ L~ L~ | =
Q24 L 6 @
3 AT = e
18 (M-10% 1.5) BOLTS ) . | o
EACH RING ® 4BAR — L
= L
= N N
= 2K
16 N JBAR —| 4
P |
\"Mm: _______,....-——-’i
TORAUE 8 — | 2BaRY B
350 mm BOLT CIRCLE DiA, : -
- 442 5{3@1}{?«&2)&0047 L —
: 1BAR —
|
5526
HEIGHT 0 L= | ' | a' 0
310| 210 230 190 150 110 70
MAX. MIN.
HT. 304 Height mm. HT. 84
e — 384 mm DIA
. i - See page 12 for instructions on how to use chart.
NOTE: A bead ring part is shown. This part is also avail-
able with rolled plates. See page 11 for explanation.
Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height | @ 7 BAR | @ 7 BAR @a @4 @s @6 @7
Gauge Spring Natural (mm) | (cucm) | {emsq) BAR | BAR | BAR | BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 240 26073 778 22.15 | 30.14 | 38.05 | 46.65 | 54.48
220 24364 868 25.13 | 33.95 | 42.75 | 52.16 | 60.76
- a&ie 283 12 200 22432 942 27.57 | 37.08 | 46.61 | 56.69 | 65.96
4 30.14 376 1.76 180 | 20346 | 1006 |29.58 |39.70 | 49.85 | 60.54 | 70.38
5 38.05 460 1.73 160 18120 1062 31.33 |42.02 | 52.74 | 63.98 | 74.36
6 46.65 542 1.70 140 15772 1118 32.97 |44.25 | 55.56 | 67.37 | 78.24
7 54.48 618 168 120 13395 1175 34.68 |46.56 | 58.50 | 70.87 | B2.21
100 10932 1231 36.48 |48.90 | 61.43 | 74.35 | 86.18
66

v LD

www.LDA.be - LDA@LDA.be

B +32(0)2-266 13 13



IBSTBQK;..

NOTE: All Assembly Order Numbers are for bead ring REE%%’[:N[T’ED Static Data
parts unless noted otherwise. RERHA i) 6217
[ mm.
Description Assembly Order No. 64 U 16
Style | Ribbed neck aluminum Do not use Airstroke in
op3 | bead rings (equal spacing), — shaded area without
45 mm bolts, nuts, washers | WO01-M58-6985 consulting Firestone
TWo | Rolled plate assembly, 56 : 14
X TY 1/2 blind nuts, 3/4 NPT SEE NOTE BELOW B | o)
ellows L
Rubber bellows only W01-358-0205 I 1
= ! .
Aseombly WORT s s S 10.80 kg. " | BEAR e
Force to collapse to minimum height (@ 0 BAR) 178 N. TEAR : B

[ VOLUME

Style | Ribbed neck aluminum bead \
218 rings (equal spacing), r
High | 45 mm bolts, nuts, washers | W01-M58-6986

Strength | Rubber bellows only W01-358-0219 B

struction

7 BAR

)

1000
V

.\)_/

6 BAR

25
S LA
N |
/ 5BAR | _|
é/
P 4BAR_5
\SBAR—
oo
/f
[ —

24 [M-1021.5) BOLTS
FACH RING

Volume cu.cm. X
| |
\:&
N
N N\A

|
Force kN x 10

P
=

AN

16//

178 N
N o A B
TORONE // :/‘ 2BAR ||
e 410 mm HOLT CIRCLL DI ——= ///I
L1
508 mm MAX 0.0 8 /l/ 2
AT 7 BAR & // I [
) L 1BAR
L | 6217 | —
HEIGHT 0 | | | | 0
J 330 250 170 90/
' MAX. TN,

Height mm HT. 84
HT. 330 S
Li 451 mm DIA."J

NOTE: A bead ring part is shown. This part is also avail- S88page 12 (oo instuctions on howite isalcadis

able with rolled plates. See page 11 for explanation.

Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isclator design only) Assembly | Volume | EEF Area kN Force
Height |@7BAR |@7BAR [ @3 | @4 | @5 | @6 @7
Gauge Spring Natural (mm) | {cuem) | (cmsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency _
(BAR) (kN) (kN/m) Hz 260 37836 1132 32.38 | 4421 | 55.77 | 68.08 | 79.26
240 35328 1243 3598 | 48.73 | 61.33 | 74.72 | 86.97
3 35.98 409 1.68 220 | 32638 | 1331 |38.91 | 5240|6584 80.08 | 93.18
4 48.73 516 1.62 200 29694 1404 4134 | 5543 | 69.58 | 84.51 | 98.30
180 26610 1467 4338 | 5799 | 72.78 | 88.32 |10265
5 61.33 627 1.60

160 23416 1520 4515 | 60.21 | 75.56 | 91.62 |106.42
6 74.12 43 Tt 140 | 20139 | 1567 |4672 [6220|77.99 | 9446 |10968
7 86.97 856 1.56 120 16912 1607 48.13 | 64,04 | 80.11 | 96.86 | 11248

67 L D www.LDA.be - LDA@LDA.be
‘ B +32(0)2-266 13 13



29 Fivestone  JRSIROKE [JIRYOUNT

. RECOMMENDED
NOTE: All Assembly Order Numbers are for bead ring AIRMOUNT Static Data
parts unless noted otherwise. RESISE el 5534
Description Assembly Order No. 80 7 PO | | =i = T ] 28
Style | Ribbed neck aluminum | Do not use Airstroke in
29 bead rings (egual spacing), | shaded area without ~
—— | 45 mm bolts, nuts, washers | W01-M58-7532 75 |_consuiting Firestone 18
Two . /
ply | Rolled plate assembly, = | A =
Bellows | 1/2 blind nuts, 3/4 BSP SEE NOTE BELOW i "8 BAR
Rubber bellows only W01-358-7902 64 | : / 16
ASSEMbBLY WEIGHL........coceeecseriveceiccsasesisissesscnsiosnnneni 13,06 g, . | - ///
Force to collapse to minimum height (@ 0 BAR) 311 N. e \: 7| 7BAR — -
Style | Ribbed neck aluminum — 7 BAR / //
207 | bead rings (equal spacing), S [ VOLUME |T\ vd =
High | 45 mm bolts, nuts, washers | W01-M58-6987 =) 7 L~ 6BAR =
s 9 48 | 7 ~ i 127,
Tength | Rubber bellows only W01-356-0207 e | ra ] %
struction = i |/ / ] //‘ E
5 BAR
= 40 Vimy dammi 1" 10 8
2 Ip 440\ 1 2
24 (M-107 1.5) BOLTS ® L & L
EACH RING = Wi \ /,/
= 32 I,/ 1 4BAR 8
O I | i
= / A el
i '__,..--" —
Ly | \
‘I\MU: iiE // Jl// ‘_____,_.-—XT 2
TORQUE — e _+—T 2BAR
482 mm BOLT CIRCLE DA, / /| ,.-// |
’—7 575 R‘F%“Sﬁ’éo D _/// P ___,_,|,...-—-—_
| 1BAR
HELGHT < /1,/’ |
It | 5534 —
9 I LIk || I
4] 30 260 220 180 140 100 |
I——:‘:‘I? mim Dln.—~| Mf[\x. " MIN.
HT. 330 HEIQ ht mm. HT. 84
NOTE: A bead ring part is shown. This part is also avail- See page 12 for instructions on how to use chart.
able with rolled plates. See page 11 for explanation.
Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume |EFF Area kN Force
Height (@ 7 BAR |@ 7 BAR @3 @4 @s @e @7
Gauge Spring Natural {mm) | {cuem) | {omsq) BAR | BAR | BAR |BAR |BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 280 | 53863 1317 |37.03 |50.72 | 6411 7882 |92.17
3 47.12 497 162 240 47704 1618 4712 |63.62 |80.06 |97.40 (113.25
4 63.62 663 1.61 200 40443 1814 53.26 |72.74 | 90.77 |10945 |127.00
5 80.06 795 157 160 32306 1962 57.95 |78.61 |98.18 [118.39 [137.31
6 97.40 923 1.54 120 | 23824 | 2110  |6284 |8457 (10581 [127.52 |147.69
7 113.25 1050 1.52 80 15280 2255 67.74 |90.95 (11348 |136.38 |157.84

L D www.LDA.be - LDA@LDA.be 68
‘ & +32(0)2- 266 13 13 !



AIRS TROKE

NOTE: All Assembly Order Numbers are for bead ring
parts unless noted otherwise.

RECOMMENDED
AIRMOUNT i
DESIGN HEIGHT Statlc Data
240 mm. : 5536

v LD

www LDA.be - LDA@LDA.be

& +32(0)2-266 13 13

St EEEEERRREERREEEREPE
Description Assembly Order No. Do not use Airstroke in 8 BAR /
: : shaded area without
Style | Ribbed neck aluminum | consulting Firestone [

200 bead rings (equal spacing), |

Two 45 mm bolts, nuts, washers | W01-M58-6979 = | ?w—

Ply Rubber bellows only W01-358-5126 80 | L 20
Bellows _\ | / / B
Assembly WEIGHE. .....vcisnmmasssmiessonsianssmsssisssssensinnss 19:88 Kg. L 2 BAR ]. 6 BAR |
Force to collapse to minimum height (@ 0 BAR) 445 N, VOLUME | / //

|
64 / 2l | - 16
S | / \ 5 BAR
= <
24 (M-10%1.5) BOLTS = Y / ——/ e
EACH RING = 1 PRI - :
=<
= i s 4 BAR <
0.48 /f / 12 o
=] = — / - E
(&) / ()
@ | L
£
d =% L ; v 3 BAR
32 - 8
o) o) / /| | =
% O O ' L1
M10- C p © | P
TTJUREEE ! ‘ = g
Ie——— 558 mim BOLT CIRCLE DA ——= / / | "] 2 BAR
= / —]
| "
660 mm MAX 0. 16 | L~ 4
/ / 1BAR
HEIGHT /r.
7 | 5536
GINEEEE | | [ )| ||| L[ Bs
} 320? 280 240 200 160 120 ?80
MAX.
Liam o D|A,4..| HT 317 MIN,
: HIT. 84
Height mm.
See page 12 for instructions on how to use chart.
Dynamic Characteristics at 240 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isolator design only) Assembly | Volume | EFF Area kN Force
Height | @ 7BAR |@ 7 BAR 3 @ 4 @s @6 @7
Gauge Spring Natural (mm) | (cuem) | (emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 260 68626 2057 | 59.56 | 80.57 | 101.22|123:62 | 143.98
240 64100 2237 65.60 | 88.20 | 110.53 | 134.38 | 156.56
3 65.60 710 1.64
220 59270 2384 7027 | 94.34 | 117.99 | 143.23 | 166.86
4 88.20 903 1.60 200 | 54018 | 2503 | 74.03 | 99.30 [ 124.00| 15038 175.20
5 110.53 1091 1.57 180 48552 2509 | 77.11 |103.27| 128,85 | 156.12| 181.87
6 134.38 1290 1.54 160 42927 2678 79.74 (106.59| 132.92|160.96 | 187.47
7 156.56 1480 153 140 37197 2754 82.19 |109.71| 186.77 | 165.54 | 192.76
120 31597 2835 8473 |113.02| 140.90|170.45| 198.42
69




215 TFwrestone

AIRS TROKE

NOTE: All Assembly Order Numbers are for bead ring N RMOUNT Static Data
parts unless noted otherwise. L 3560
Description Assembly Order No. SO AR N R R R =
Style | Ribbed neck aluminum ?ﬁa'&g;u;é:ﬁggﬁ =
215 | bead rings (equal spacing), e tilting Firestone
High 45 mm bolis, nuts, washers | W01-M58-6978 9
|
Strength| Rubber bellows only W01-358-7912 B i
Con- 10 30
struction
_7BAR 8 BAR
ASSEITIDIY WIGHL.....vvovvtrcecsisivsssianetiessss s e 17.42 kg. VOLUME \ A
Farce to collapse to minimum height (@ 0 BAR) 712 N. \
— N // 7 BAIE___—
S ></ //
= 6 BAR o
5 (14-10% 1.5 BOLTS gs / //< L~ -
EACH RING 3 L~ =
= ' B/ ||
Qg ] A N 5BAR ] 13 8
(&) L~ — (@]
() / 1 ></ L
= — /,// N 4BAR ]
S
o | / L~ | A1
> / i L
4 TN 12
S i / A LT NS
TE[}RgEE 596 rnm BOLT CIRCLE DA /A T —]
frim LE DI L—"
_/ / / 1=l N |
707 i MAX 0.0 / |~ |
2 Pt _——T"T ?BAR | ¢
f e =T
/ /"/ ‘ |
L~ o
HEIGHT 5 / ...---*"'“'"#’————— 1 BAR
/// ; |-
P 3560
i t@ : o I T O A LIS
| — 370 330 290 250 210 170 130 90]
MAX. _ MIN.
HT. 368 Height mm. HT. 84
See page 12 for instructions on how to use chart.
Dynamic Characteristics at 265 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required faor Airmount isalatar design only) Assembly | Volume EFF Area kN Force
Height | @ 7 BAR | @ 7 BAR @3 | @4 @5 | @6 @7
Gauge Spring Natural (mm) | {eucm) | (cmsq) BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 280 | 87025 | 2517 | 71.76 | 98.42 |123.96 |151.24 |176.18
3 75.08 710 152 240 76208 2804 81.69 | 110.16| 138.72 | 168.82 | 196.27
4 103.39 879 1.45 200 64214 3026 88.70 | 119.39| 150.17 | 182.38 | 211.83
5 130.16 1077 1.43 160 51165 3225 94.30 | 127.88| 160.34 |194.31 | 225.73
6 158.58 1277 1.42 120 37635 3424 100.33| 135.61 | 169.95 | 206.11 | 239.66
7 184 57 1458 1.40 80 23815 3558 105.77|141.44|177.04 | 214.33 | 249.02
www.LDA.be - LDA@LDA.be 70

A

LD

B +32(0)2-266 13 13




[URSTROKE [URMOUNT  Fivrestone 248-2

RECOMMENDED
NOTE: All Assembly Order Numbers are for bead ring nEgliFénﬁ:UEEm Static Data
parts unless noted otherwise. ikl 8412
!
Description Assembly Order No. T I NEEER |
Style | Ribbed neck aluminum |~ | Donot use Airstroke in i
248-2 | bead rings (equal spacing), 78 shaded area without 56
High | 46 mm bolts, nuts, washers | WO01-M58-6970 30"5"""'“9 Firestone
SUeNgth | Rubber bellows only W01-358-1022 - | 8BAR —
struction = | //—
; | -
ASSEMBIY WEIGNE . ...ecveveee e eeeeecresness s eemeneseeraseeses 32.88 kg, 24 | 48
Force to collapse to minimum height (@ 0 BAR) 1556 N. B | / 1 BAR/_
| 8 L~
‘\ | / , =
EACH RN S 7BAR Pd 7 S
~— " . I ! T
= VOLUME / 0
% B —[—
= 16 | < BR Ay X
3 2 1 Q
(]
= = / . 4 BAR/_
S |
= 12 / J/ —|24
=
M1D- Hal
——— 130 mm BOLT CRCLE DIA—=! 8 [/ 16
_/ /| N
h 950 rﬂ{n?fué;}\)léo_u.ﬁ 1/ / / | 2_?_1_3\5_ )
; ¥ / : = i
/| -
¢ Z 7 18R |8
HEIGHT : L________..__—-—-——“'__ B
1 | 8412
oLl | I L1 11
" 400| 40 280 220 160 100
I MAX. :
880 mm 1A HT 393 He|ght mm. Hf%m%?

See page 12 for instructions on how to use chart.
NOTE: The effective length of the 45 mm bolt is 23 mm

in this bead ring.

Dynamic Characteristics at 280 mm Design Height Force Table (Use for Airstroke™ actuator design)
(Required for Airmount isalator design anly) Assembly | Volume | EFF Area kN Force
Height |@7BAR |@7BAR | @3 | @4 | @5 @6 @7
Gauge Spring Natural (mm) | {cuem) | {emsq) | BAR | BAR | BAR | BAR | BAR
Pressure Load Rate Frequency
(BAR) (kN) (kN/m) Hz 320 | 180105 | 4643 |13377 |18362|230.28 |279.45 | 32496
3 150.00 1245 1.44 280 | 160037 | 5147 |150.00 |204.75 | 255.83 [309.73 | 360.26
4 204.75 1600 1.39 240 | 138633 | 5549 |162.94 |220.93 | 275.60 [333.61 | 388.39
5 255.83 1923 137 200 | 115452 | 5858 [174.20 |233.51|291.87 [352.93 |410.04
6 300.73 2281 1.35 160 90693 6106 [182.57 |242.51 | 304.68 (368.72 | 427.34
7 360.26 2628 1.35 120 | 65396 6367 |188.40 |252.37 | 317.21(384.29 |445.66

71 L D www.LDA.be - LDA@LDA.be
‘ & +32(0)2- 266 13 13



We look forward to your application.

LDA Belgium

Hoge Buizen 53
1980 Eppegem
Belgium

Tel. 432 (0)2-266 13 13
Mail: LDA@LDA.be

www.LDA.be



